www.inyatrust.com

PE-2019
SR a0t a.cd.n. TR 255 Hocd, - 2019

Sabab : 3-15 Dednw WVTEDay (22) 1105 @OBTEd: 100
eved) PEITIED: 04 ECONOMICS - eed B 51

BAWING! 1) FE7id 8502508 78, OGS 57N 13000

2)

3)

4)

5)

]
6)
7)

8)

9)

Write the question numbers legibly in the margin.
2) 2,05 B ROLODAT GUZTE) NOOBTTHDATIEE?.
Answer for aquestion should be continuous,

Peni- PART-A
AOWRT HvB0=wY SOA LD, Choose the correct answer. Sx1=5
2,05 SHFEICH THTILL ROTIHLAD
The scarce resources of an economy have
) BTF IF WEELDE) BrohICompeting usages
b)e=oang wddeday Trons Unlimited usages
C) ¥ WYELHTy BROOF Single usages
d)Seds asweydd @¢ None of the above
SER,IHDRE 1,055 MOTT PR, In the short run . a firm
aloey CToRNYE) wdowcwragd Can change all the inputs
b] 2 BTRINGY wocecbmydHe Can not vary all the inputs
c] sep wreInesy 4Omeh Srotthgd Can keep all the inputs fixed
d) S2e3 inTms ¥ None of the above

oW = Profit =

al|PxQ b]IR-TC ¢]TFC+TVC d] TR/Q

NNP = GNP -

aj &z Deduction b]==89 Depreciation

¢] @288 Investment d)2eD3 wwycy @0 None of the above

T8y WTRALA D83 FOHBWY BeBod VPR W éors’ BTN Y
When demand exceeds the available output under condition of high level of
employment, this may give rise (o

a] ©2TR00E, ©THB BRtiaEddInflation

b]oB 08, ¥TWB IpnEAEIH. Deflation

¢] 40e3dreE, ¥TEB WRREARED Stabilisation

d] Soedx 3Ry 0. Nonce of the above

00 0, F¢NTIY, 30000, Fill in the blanks of the following 5x1=5
wOTk U SBcdng YO FEIBY, Ae00Z BTN gt lebicTnl
Foraprice taking firm marginal revenue is equal to

B0ttt 3y IpE Sesldnvh B0R,0 IedT LOTROTE Do Tason>Z .

is determind at the point where the demand for labour and supply of
labour curves intersect.
SO FTIROT FCEMYT, SRmL IRET DM, PUSE DS . 3aH
Beamen B8, Fogy, THI.
The Monopoly ﬁrm ) decasmn to sell a large quantity is possible onlyat
RESASTy, Tos) B30 8N @aiasa ToRmoZg moxnwns RBI, SEBI rieoc wan
3doarbacs
pollcles are pursued by the state itself or statutory bodies like the RBI.

SEBI ect,
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10) mEros O8 XoM AR SHochE, Zma HS0gR;, amma’uéd RTTY SO
38032333, The Govemment may spend an amount equal to the revenue it collects .
This is known as

Il  ®000% wiad.Match the following. - 5x1=5

11) A B
1) [RTE AT &) BT PG, SRNBLUEIET S
Complimentary Goods Personal Disposable Income
2)=5o08e, Ihdeees Market Equilibrium ) &5y =08y 208° Pen & Ink
3) M, =3y M, M;and M, %) soncw 83 Paper Gold
4) PDI &) Swoo SeBroad Money
5) SDR =) QD=QS

Iv 3903 I,3neT nomd IT egm 2,003 m'ﬁ 3 0g0ON .
Answer the folowing questions ina word or a sentence each: 5x1=5
12)  Rag, &@esoy Qonse:? What is Micro economics?
13)  eomEd Pued w32 2202080 VTR WOKD.
Write the meaning of cost function of the firm.
14) s &y, wowdess? What is Duopoly?
15) RoZ T Bepa iedd HESy Bedhdn?
What does classical school of thought say
16)  2455m03 Smad 300 (MPS) sae 2300,
Write the meaning oi Marginal Propensity to save(MPS)

woni-W0 PART-B
V & 39AS SGRRmEte 9 83,3101 B3,803.00088, 4 SoBNC) Y03DA .
Answer any 9 of the following questions in 4 sentences each: 9x2=18
17)  iend DodRmy a9 State the law of Demand.
18) esrinenod SS8rSohsy DHTOTT D DFOINTEY, Y4,
Mention two different approaches which explain consumer behaviour.
19)  52330nRE ZERNS ADNSNYRY 894, Mention the types of Returns to scale.
20)  geRh SnvR) =02, Name the short run costs.
21)  RIREE SKE e NNy YormBTRsLd 100D,
~ Write the meaning of Opportunity cost with an example .
22) Room0 SN RIB) B0 SNV BEE EVA.
State the meaning of Average revenue and Marginal revenue.
23)  E, SCEDEOR WITT HTE APRLRY BROA. T3y SR B WO,
Name and write thc meaning of tvokinds of'trade in external sector.
24)  wommToonneay 0% Mention the factors of pr oduction.
25)  comaEs THT, BOLT SHON FFTIYRY 9. LORTTRE £%.
Distinguish between stock d]]d ﬂnw Give L)sdlﬂplt
26) R®BINEEI DI SFFRH0 7 €T TR DEMERY EEA.
What do you mean by externalitics ? Mention its two types.
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27)

28)

29)

30)

31)
32)

33)

34)
35)
36)
37)
38)
39)

40)

41)

VII
42)

43)
44)

o w03, B3y B CDP ne SRR FZARYRY WS0WD.

Write the differences between nominal and real GDD.

BT BeRFCD DTRE YOREBNTT 292,

Mention the two motives of demand for money.

TRREWD TEIBE BHFDY el BTT ZNIJTTY LBOWD.

Give the meaning of investment multiplier. Write its formula.
[0g LOFE3C3 St BRolnysy 39A.

Mention the three linkages of Open economy.

-2 PART-C
& 89¢NT WRPHouds 7 JIRen Z,3xdeonse, 12 Sandd evgdda.
Answer any 7 of the following questions in 12 sentences each: 7x4=28

2e0f,e0 C3Retld LREIZID L} OF L8 WD,
Write a short note on a centrally planned economy.
243, B&TOED T3y LER08 B TONY SEOT FBoIRTRY B0,
Write the differences between Total Utility and Marginal Utility.
B 39N WY vkohd =0aEprer Haipctdond NTEd PRET col ROFRRVRDEWD
ol R0 3grd teCewDd. Write a short note on profit maximisation of a firm in
Perfect Competitive Market under the following conditions .
a]P=MC  b]MCoi» 9,52 avduinmiae. MC must not be decreasing at dy:
AEBroRT Hitd LF ROl SewnY FOmEHEE), SA0RT BacE IRTY, WIWD,
Write atable to show the impact of simultaneous shifts on equilibrium .
ITewd TeI 0D CIReLlE ZOM,FEEE THEBY BABT LIRBTRORTY, QE0A.
Explain the examples of planned accumulation and decumulation of inventories.
®meow BoChr NYEy RodE™A L=0A. Briefly explain the functions of moncy.
RBI® szose ey 038R 2%0%. Briefly explain the functions of RBL
A3, 23eR8 20NEE OFFSR wON0.0e03FTN 80T, TUt TWD IIT?
Write the meaning of Aggregate demand function . How can il be obtained
graphically?
SPRN T3 THRED WoRTTRy Team JENE LLvE LTOA.
Explain consumption function and investment function with the help of graphs.
BT 8503 03 Foedeod EHTECHTY BogToN LT0A.
Brietly explain the Revenue deficit and Fiscal deficit.
A0 HTO0R WO R0y WRCHLT LA [IAY 1ore 303y BeeaAndsy HFOA.
Explain the merits and demerits of flexible and tixed exchange rate system.
5on-& PART-D

B 39NT Wepoedde 4 JFren o,30000080, 20 HINVY w030A .
Answer any 4 of the following questions in 20 sentences each: 4x6=24
Dren T3, Seadod ognndE) Sesn Wgndsoln HTOA.
Explain the features of indifference curves with the help of diagrams.
Degronil 130 Cesdne $momsy oz0A. Explain (he shapes ol tong run cost curves.
48 Bosgod vz PunEaolr SRUEY, REEAosSHNy, CuniEn Amelhion
&=0s, xplain the market equitibriuim with the {ixed number of {irms with the help
of diagrams.
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45)

46)

47)
48)

Vil

49}

51)

E@RBOEDY, DI B, FHedE wnwmynt TR @y TCHeedne weddoood Hvmmay
BOGED BT XTRBLLONEE, Beam t3teobi H730%. Explain the short run
equilibrium of'a Monopolist firm , when the cost of production is positive by
using TR and TC curves with the help of diagram.

GDP o3omy, €200 Sntda 300 G0N wotle 080HR) R Riosnsy
3RO 2,07 T0ANEE LOrRHTHBT;, H=02. Explain numerical example to show
that all the three methods of estimating GDP gives (he same answer.

S SNEeorasa; A, Explain the classification of expenditure.

HOTIRCs: TRESR Wi LiFed 22030, Write a note on balance of payment.

z5oni-a PART-E
& TPAT CSRPYRCR 2 F0res S0 Adpcks edd JFnen
e080A. Answer any 2 of the following Project and ,ﬂ(ssignmenl Oriented
quesfions. 2x5=10
& EYNT ERETNY TmERG YOBFATR; TOES Lk cusD.
Iind the Missing products i the foliowing Table.

[Factors grtsenss TP MP AP
1] 0 0 0
i 10 - 10
2 24 - 12
3 4{ 16 13.33
4 - 10 -
5 - 6 11.2
6 57 I 93

( wog D penen @303, For Blind Students Only )
TP, MP 523 APAY sgrazy adasd. Write the meaning of TP . MP and AP.
BE RO SMFITY AUIT B¢, PLivcd SR, 3¢ Se. 10 2wmn,
283, &0 0( TR}, 268502 &350 (MR) 3033 Roox0 e AR) el
sEiRpunY SuRs @k, Compute thg Total Revenue, Marginal Revenue and
Average Revenue schedules in the following table , when market price of each unit
of goodsis Rs 10,

Quantity Soldapoedt S,@35 | TR | MR | AR

[ BN W | N L L

6
(wog am@rnert 8% , For Blind Students Only )
TR, MR s ARRY xSy wiosd. Write the meaning of TR, MR and AR .

Srora S0 Ry BRT WERRTor (F0i5 Jrde) L wotd 57 ed LUD.

Write a note on Demonitisation.
sEOSSSlSEQat
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